HW Set 32 Sechon 7.3 plgl

1) (A, Prachce 4B, pSH)
(#1) &) 4% of 125 = (-09)(125) = 11.25‘

(6) 787> of Q00 = (-78)(6{00) = 0L

() 3070 of §250 = (-3)(250) = 275

@) 4570 of Yoom = (+45)(H00) = [8OM
(&) 217 of 508 = (-21)(50) = 1045 L
@ 1670 of 6o gg= (-16)(€°) = 9.6 &g



(%2) 47o of #1500 = (so)(i500) = # 6o
(4%3) 4070 of |5 = ((15) = ¢ arrowshit The target
- 9 arpws did hot Wit
(abt 4070 of arnews hit => €070 of armws d hot hits 607 of 15
- ¢o)Is) =4

dod not hit)

@{W) 64 %o are ancond ihored > 3670 are nol™ air conditoved
not au - cmdihoned

3670 of 125 = (+36)(125) = 45 are not

(¥5) 570 of # 200 = (-05)(200) = B 10 dascount 5 50 selling price =
g200— 410 = $190

(akt/ 5% dascount > selling price w 5% o{"y_o—o} (+95)(200) = ¥ |90)

(#6) 5% of # 1400 = (05)(1400) = # 70
So his monthly salary affer The tncrease = g 1470
(a/ his mondhly salary after tre lncrease = 1059 of # 1400
= (1. 05)(1400) = £1470)

(ﬁ-l) OK H add Ww‘jtaﬁ‘cs heve since oF- e Sarve %Utwqt,‘.l.y
60T + 2470 = §4Te —> 10070 = 8470 = (670 of De stamps

ote Ev
ib7o O‘F 300 = (0‘6)(300) = 4’8 EUkD'P&VM-— S"’tVY)\-PE
(#8) AfHer making fre nestballs, Ske has 600 g — 3504 = 1250 ¢ lef.
She used 8070 of Tre remawmdaer for hambungess . So ske'll
have 2070 of |2504 left ; (-2)(1250) = 2504 left
(¥4) She S1>wt 1S7, of # 80 or (+15)(80)= # |2 ow l,e_aga‘—a,bles
She has B§0— #12 = # 68 remawnirg She spnt 507e o £68
or %(68) = B34 on meat
(¥10) 60% of class ane GIRLS ) 5o H07o are BOYS
(+¢)(Ho) = 34 GIRLS, 5o H0~— 24 =16 BOYS (or (-®)(%0) = 1¢)

5070 of Tre gols wear ﬁ(’.cu‘ser 5 so £() =12 garls wear glasses

35‘70 of re blﬁd”ﬁ weat @bsfe'gi o + ([b) =4 bmd«l weay Z)Qom
+ = 3070
= |07,

- donls att 50% of 607 = 3(60%
So 12+ 4=16 st wear jlasses ( 257 of Yo7 _:#(407,3

So #07e of class weats ses

¢ 4)(40) = b StodesTs uear glasee

J

)



9.) ke X = DH‘@'CM Prt‘ce. #26 i¢ 65% o«(—‘—x Se 65X =26 13
)(=.2_6- =$L}o
0 6S

Tre orig P'\ice, of tre shivt was #4o
3) (6A, Prachice 4D, p&7)
(#7) WHoLe UNIT = vsual price of tre bieycle
diccount of 15 —> pard &STo of usval price Let x= usual price

8340 is 85T of x -85X =3HO
x= 342 - #Hoo Ww:ualpricefc £Yoo

¢ §S
dﬁ/ OI‘Zo 8570 “707.: 3
= — 8570 2 83‘40 ') 9
T .
(T7777777 77771 ] 570 =2 2° ) 20

|00 —>

(#8) WhoLe VN T = english test score
Lekt X = e»«%ﬂuskkﬁ‘ Score

5

g4 (s 105% of X |»05X = 8Y%
y = 8% = %0 St scored 80 m
.05 hor Englishtest
070 { 0010 0% 7.
OM:/ } 2 —+ |O§'7o —> 84 1).2'
i et -
V7727777774 se — 4 '
X20
‘84 ‘0070 «-—-—)
@’F‘D WHOLE UNIT = amt spent last weedC
Let X = amk sPe/.d: last weef
¥55 is 1107- of X [.IX = 55
« = 55 - hso Hespet #50
1ol [aﬁ'uruvlL
“'0)7 ol ) [o3s o
| [4 ™ ;
e lloTo — # 55 § .,
7777777777/ 1 7o D =

# s

| 007 ——3



@HD) witote UNIT = hvmbetr of %Hg "y

07. 06T 11676 107¢ > Y4
I — x |0
G | | 5 007, —> 40
B | ] ‘ Trere are 140 guds and Ho+H = HH beys
iy So 4o +HY = @) children altogelter

ce 1§ reduced by 2070 and Then The sele

4.) () Exercise 3.5 1f 4 PH
ot Pbrcm\t is tre overall redvchon ?

price is reduced by 3¢6To,
You are paying 0% of 8070 of Tre origural price

(1) (80T0) = 567
| o ice * 1 Il redveh s 44%
Yo pay 567 of e orgured price ; The overm e oo e

(b) (bA, Pracke 4D, p 67)

(F1) bk x= ML\/ salary abt/ 2075 —> #2Ho 3 s
3(970 D‘F X w 2 HO l007o -———)@
,2X = 2HO

2>
X= 3

(% 4} 35% of Tre booKs are for it ldresn a—()’y

= beo|<S
Let X number of bool 357. — 280 3y 4
186 1 357 of X . .
S?b > Yo 2 x 20
36 X = 280
' 1007 —>(§00)
= 181) =
L

(#5) lot x= wsual price of fanm (#6) let x= usued phc.e,o{l dress

7070 Oex is ﬂ“"o 35700-FX w ﬂls
,25X =16 = g X=15

v IX = [HO o ae @
= M0 - =R
7 o 257 — #15

,,J),\;/ 7070 —> B 140 )+ 1667 —

|07o —

%20 ) x 1o
(007 —> @200




5) (bA, Practia Y€, p 68)

(#1) 15 kg = 15004 “%=% =

(#%2) 40T —> 16 5 -y
16T -— 4 Jxb
667 —
Trete ane 24 bmdrs
(#3) Lek x= SWV\S'OV[S pay
415060 Is 8670 of X
., 8 X = 1560

(#4) dscount of (60 > pay 9076 of

usual price
Let x =Usval price Y
# 45 © 40T of X a6 —> # 45
14X = H5 1670 —> #5

X=3f—§- = 007 = (# 50)

(#5) Tim answered 86% of 50 or (+8)(50) = HO gueshions
Cardos amswened 907, of 50 o (+9)(60) = H5 c(r»ottfw)
(a) Carlos amswened 5 more gpueshons correctly Traw Tim
(b) 5w what percert of Ho? % =3 = 100 % 7 = 12:5%
(¥6) 667 of 200 = (+6)(200) = |20 males —> 200 -120 = 80 females
Thete are 40 more males Than females
(Express the dafference a0 & percontage of Tre muwber of fomeles)

% = é = 507, There ane 5070 more meles Mfmale,r.
() o7 toTo o™, 00Te  Fiest 407, of beads are red
' ' 36 ! So 607 of bexdo ane yellow
R l ?
YT 1 % ¢ (9070 - HO?o = Zb7o

7—070 "“—> 3‘: D XS

16070 —3

These are (5O L&wtoa‘b-ae,‘n%k

I5



@&'9) Lfbb\(! duscont of 207 — Pcud 867> of usval Pr[ca "6

wioLe uniT! wsvel price of watch §0% —> # 600 |
267 — #1so

So The usval price is #7150 o070 —> #7750

Scott pard k630, so lxe.ao-bﬁllooﬂi
i%ﬁ:_"l_;_=_|_(3_ = (670 Fk@fotad«vkw\toe

754 &5 oo

@\14) Let x = Alices S‘Mary OM/WHOLE UNIT = le‘s m(artj
So lelx = Marys salary s
X 4+ 11X —gHzoo 216% —> Y200
g.[x-ﬂ‘izoo 1690 ——>3200
X = %7;?—%—- = #2000 ibo']o .——)#20_0—0<
So Mary‘s is (m)(lm)z So Hmy‘g s #2200
(Hlo) spenk 2670 of his mornexy on food —> 807 of s mmey left
spent -’Ss(eo’Yo) o 320 of o ey m a toy Let X = amt of
at AvsT

B2 b 327 of x > =3X7 12
= __L?___ =(# )
z Y
32% —> #12 )3
47 ——>#le50l)xzs

(607 —>
6) llkSlhﬁ‘f' unttof welght So TwaX wn“‘"bl‘s Inital u»e/\.:a,&:t (s
po vaits,
If wcr-ovba' lmﬁally wergbed X lbs,

lost 25% — werghs 75 unilo
G twved 207 —> werghs 90 unto lost 2570 —> wesghs 76T0 of X
| or .757(,
lost 10°T0 — wexghs 8| o WZO% - werghs 1207 of .T5X

%MM—OL 267 — Wfig"ﬂs q7. 2units or ((,z)(,-zgx) = .9%
He LOST w,e,_%,{,;t M \/W lost (6T — uru.z)exﬁ Q(’)?o o{-\' e IX
" or (-9)(+9x) = - 81X

W'Lo‘?c - Weghs 1267- of .81x
or (l-l)(-gl)() = 972X

He wexgts 47276 of his inhal wt.




